PERFORMANCE CURVE

100
A

80
= \ SEH-100T
£ (STH-100X)
= -100X)
< | 60 ™
L
T \
:(l 40 \ \&
= N
o) SEH-50T \
[ SEH-80T

(STH-50X) )\ \ (STH-80X)\
) \ \ \
0 100 200 300

-
DELIVERY VOLUME (USG/min)

Note: Performance ratings are guaranteed minimum, not inflated maximum.

SPECIFICATIONS

400

Model SEH-50T SEH-80T SEH-100T
(STH-50X) (STH-80X) (STH-100X)
Connection Dia 50mm (2") 80mm (3") 100mm (4")
Connection Thread National Pipe Thread
% Total Head 29m (95ft) 26m (85ft) 28m (91ft)
o Delivery Volume 600L/min’ 900L/min’ 1450L/min
(158USG/min) (238USG/min) (383USG/min)
Max. Suction Head 8m (26ft)
HONDA GX120 | HONDA GX160 | HONDA GX240
Model Forced Air-cooled 4-stroke Gasoline Engine
Exhaust Volume 118cc 163cc 270cc
% Output Rated Power 2.1kW (2.9PS)/3600rpm | 2.9kW (3.9PS)/3600rpm | 4.6kW (6.3PS)/3600rpm
G Max Power 2.6kW (3.5PS)/3600rpm | 3.6kW (4.9PS)/3600rpm | 5.9kW (8.0PS)/3600rpm
E Fuel Automotive Unleaded Gasoline

Fuel Tank capacity

2.0L (0.43gal)

3.1L (0.68gal)

5.3L (1.16gal)

Fuel Consumption Hour (full tank)

2hrs

2hrs

2.5hrs

Starting Method

Recoil Starter

Standard Accessories

1 Strainer, 1 Spanner, 1 Engine Tool Set

Net Weight

23kg (511b)

| 29kg (64lb)

56kg (123Ib)

For the purpose of improvement, specifications are subject to changes without notice.

PARTS LIST

SEH-50T(STH-

50X)

SEH-50T (STH-50X)

No. | PARTS CODE ‘ PARTS NAME ‘QTY No. ‘ PARTS CODE ‘ PARTS NAME ‘QTY
1 10120195 Pump Casing 1 21 | 734532076 | Socket Bolt M8X60 4
2 | 0112822 Suction Flange 1 22 | 827419008 | Nut M8 8
3 | 0112665 Check Valve 1 23 | 854255008 | Seal Washe ¢ 8 4
4 /10118078 20A Plug Set 1 24 | 0115115 Long Bolt M8X118 4
5 | 743119045 | Bolt M8X20 3 2510117345 Cushion Rubber Set 1
6 | 0114027 Flange Bracket 1 26 | 0110515 Cushion Rubber 4
7 | 0115169 Volute Casing 1 27 | 735719148 | Bolt M8X20 4
8 | 0115168 Impeller 1 28 | 843822008 | Spring Washer ¢ 8 4
9 | 0120687 Delivery Flange 1 29 | 846007008 | Washer ¢ 8 4
10 [ 0110541 Flange Packing 1 30 | 0115230 Spanner Holder 13mm | 1
11 |1 0128238 Base Set 1 31 (0115185 Spanner 13mm 1
12 | 0110466 Adjusting Washer 3

13 Engine 1

14 |1 0115159 Mechanical Seal 1

15 (0111893 Strainer 1

16 [ 0115229 Name Plate 1

17 [ 0115014 O-Ring 1517-42.5 1

18 [ 0112792 O-Ring P54 1

19 | 743119047 | Bolt M8X25 4

20 | 743119051 | Bolt M8X35 4

15-06 012094503




PARTS LIST

SEH-80T(STH-80X)

SEH-80T (STH-80X)

No. | PARTS CODE ‘ PARTS NAME ‘QTY No. ‘ PARTS CODE ‘ PARTS NAME ‘QTY
1 10120196 Pump Casing 1 21 | 743119053 | Bolt M8X40 4
2 | 0112876 Suction Flange 1 22 | 734532075 | Socket Bolt M8X55 4
3 [ 0112799 Check Valve 1 23 [ 827419008 | Nut M8 8
4 | 743119061 | Bolt M10X25 3 24 | 854255008 | Seal Washer ¢ 8 4
5 10118078 20A Plug Set 1 25 0115542 Long Bolt M10X160 4
6 | 0120931 Flange Bracket 1 26 | 0117345 Cushion Rubber Assy | 1
7 | 0115541 Volute Casing 1 27 | 0110515 Cushion Rubber 4
8 [ 0115539 Impeller 1 28 | 735719148 | Bolt M8X20 4
9 (0111361 Delivery Flange 1 29 | 843822008 | Spring Washer ¢ 8 4
10 | 0110584 Flange Packing 1 30 | 846007008 | Washer ¢ 8 4
11 | 0128335 Base Set 1 31 (0115588 Spanner Holder 17mm | 1
12 | 0118079 25A Plug Set 1 32 10115589 Spanner 17mm 1
13 | 0110491 Adjusting Washer 3
14 Engine (With Oil Alert) | 1
15| 0115159 Mechanical Seal 1
16 | 0111894 Strainer 1
17 | 0115597 Name Plate 1
18 | 0115015 O-Ring 1517-46.5 1
19 | 0113989 O-Ring P74 1
20 | 743119063 | Bolt M10X30 4

PARTS LIST

SEH-100T(STH-100X)

SEH-100T (STH-100X)

No. | PARTS CODE ‘ PARTS NAME ‘QTY No. ‘ PARTS CODE ‘ PARTS NAME ‘QTY
1 10115691 Pump casing 1 2110128185 Base set 1
2 0115763 Flange bracket 1 22 10115923 Rubber sheet 1
3 (0120600 Volute casing 1 23 | 743119043 | Bolt M8x16 1
4 10120599 Impeller 1 24 10120601 Long bolt M12 4
5 10111365 Suction flange 1 25 10120602 Spanner holder 1
6 | 0117363 Check valve set 1 26 | 0120667 Strainer 1
7 0116151 Delivery flange 1 27 [ 0120603 Spanner 1
8 [0110750 Delivery flange packing | 1 28 [ 0120428 Side Panel Label 1
9 | 0110081 Impeller adjusting washer | 3
10 | 0118079 25A Plug set 2
11 Engine 1
12 | 0115678 Mechanical seal $20 | 1
13 {0120718 Name plate 1
14 | 890455080 | O-ring 1516-80 1
15 | 889855090 | O-ring P90 1
16 | 743119080 | Bolt M12x35 8
17 | 743119067 | Bolt M10x40 4
18 | 734532078 | Socket bolt M8x70 4
19 [ 827419010 | Nut M10 4
20 | 854255008 | Seal washer ¢ 8 4

15-06 012094503




	012094503_M_spec_ENG_STH-50X_80X_A4両面二折_表_1506_WEB.pdf
	012094503_M_spec_ENG_STH-50X_80X_A4両面二折_裏_1506_WEB


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (Adobe RGB \0501998\051)
  /CalCMYKProfile (Japan Color 2001 Coated)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /JPN <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        8.503900
        8.503900
        8.503900
        8.503900
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 0
      /MarksWeight 0.283460
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /JapaneseWithCircle
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed true
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (Adobe RGB \0501998\051)
  /CalCMYKProfile (Japan Color 2001 Coated)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /JPN <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        8.503900
        8.503900
        8.503900
        8.503900
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 0
      /MarksWeight 0.283460
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /JapaneseWithCircle
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed true
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


